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-2, 659, 554, 749

— x 100 = -104.6 (%)
2,542,617, 793
< AEDBEFTESFRBLLELZL () &
BL2DAEE = A+B—C (—D) XDlE. A+B—C>0THNIFEA

= 830,187,763 + 0 — 3,489,742,512 (—D)

= -2,659,554,749 (A+B—C<0&Y. DIFEALET)

A= RBRECHE EREXEF ERRILEF ZRE-PFIIEZREREF

855,277,053 — 25,089,290 — 0 — 0 — 0 = 830,187,763

B= EAMAENERES = 0

C = REBEEDE—ERMIR—1ERE

= 3,489,742,512 — 0 — 0 = 3,489,742,512

D = fHWREETEE = 0

BROBE = S (+s) —T  sIHEEEEE FIAMEH) ZEALTVWIERICEA

= 2,562,009,793 + 0 — 19,392,000 = 2,542, 617,793

S = EXPR&RNEE = 2 562, 009, 793

s = HEEEEEOFAMENRANDE =0

T= REIFWEHEDNE = 19,392,000
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